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MISSING PAGES ORITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll
Number and Test Booklet Series A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/
discrepancy will render the Answer Sheet liable for rejection.

Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi
and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over te the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.
Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i} There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third of the marks
assigned to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

{iii) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.
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1. What is the remainder when 4°%% is

divided by 67
(@) 4
{b) 3
fc} 2

d 1

I

1
y+=
z

where x, y, z are natural numbers,
then what is z equal to?

(a) 1
(b} 2
c) 3

(d} Cannot be determined due to
insufficient data

3. For what value of k is {x - 5) a factor

of x3 - 3x2 +kx~-10?
(a) -8
(b} 4
¢/ 2

d 1
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4, What is

5+4/10
5v5 -2420 - /32 + /50
equal to?
@ 5
() 5V2
(c) 55
(d} V5

5. The digit in the units place of the

product 81x 82X 83x 84 x---x99 is
fa) O
(b) 4
fc) 6

(d) 8

6. The square root of

(0-75)3

2 +[0-75+(0-75)% +1)
1-0-75

is

{aj 1
(b} 2
{c) 3

(d 4
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1. 9 496 =t 6 @ fywfom frm s, @ 4 5+410 : B
TIHH 1 37 " 5J5-2420-+/32 +4/50
27
(a) 4
Pl 3 .
(c) 2 (b) 5J2
d) 1 fc) 55
(d} 5
2. 7l
%—2+ 11
o 5. %S 81x82x83x84x--x99 %
g T & T & F-an ot 37
T x, y, z 990 HEAM §, q1 z feus (@ o
O BY
@ 1 (b) (4
b) 2 fc) 6
e} 3 {d) 8
(d) ST T < o Huffa T8 fma
ST GRal
3
6. (075 +[0-75+(0-75)2 +1] 1
1-0-75
3. ko g am & g x3 -3x2 +kx-10 =i &1
F1 TH OGS (x - 5) B7
e 1
{fa) -8
b} 2
(b) 4
{C) ) {C) 3
@) 1 dj 4
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7. What is the remainder obtained 10. What is the number of possible pairs
when 1421x 1423 x 1425 is divided of (P, Q) if the number 357P230Q is
by 12?7 divisible by both 3 and 57
@ 1 (@) 7
(b) 2
(b) 6
) 3
@ 4 @ 5

(d} None of the above
8. Consider the following statements :

i. The equation 1990x-173y=11

has no solution in integers for 11. The difference between the squares
x and y. of two consecutive odd integers is
2. The eguation 3x-12y=7 has always divisible by
no solution in integers for
x and y. {a} 3
Which of the above statements B 7
is/are correct?
c) 8
fa) 1 only @
(b) 2 only (d) 16
fc) Both 1 and 2
fd) "Neither 1 nor 2 12. The expression

3.2 3 2 2.2 2
X -x“pt+d4x“pt-4x + 3xg< - 3xpt
9. A student was asked to multiply 4 P p q q P

a number by 25/ He instead
multiplied the number by 52 and is divisible by
got the answer 324 more than the
correct answer. The number to be

multiplied was fa) (x—1} only
(@) 12 (b) (x -3} only
() 15
{c) both (x-1) and {x - 3}
fc} 25
(d) 32 {d) neither (x -1} nor (x - 3)
B-EFUA-O-PDW/52A 4
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7. 1421x1423%x 1425 & 12 ¥ fawfm 10. At ¥ 357P25Q, 3 3R 5 T B
F T IR 27 fosrs 2, @ (P, Q) % wmE Fw A
T w1 27
fa) 1
(b} 2 faj 7
fc) 3 b} 6
fd) 4 fcj 5
8. Frfafiaa wedl ® fam Hifv (d) 37w & @ F1E T
1. WEHERT  1990x=173y=11" I
2 11. <1 sHuTrd fowe gorfet & S &1 ST g
2. Wi 3x—12y=7 F x 3 y e forea 27
% fore quiferi & ig &t 34 1 '
(aj 3
IW FUEl 4 9 SE-A1/" q& 3/30 '
) 7
fa) Fad 1
(b} FaA 2 (e 8
f¢) 1 %23 (d) 16

(d) 4d1dmAdE2
12, &5

9. uF o & fhH TEwm w25 & [0 FA x3g2 - x3pt+ax2pt —4x2g2 + 3xg? — 3xpt
¥ e w31 ™) 3@ 39 wEm H 25 &

A W 52 ¥ TOm W fem 3 3w frat fmsg 27

IW, 9 I T 324 e 1| 5| den

! Tom fRan ST o 97 w27 (@) A (x - 1)

fa) 12 ) A (x - 3)

(b) 15

(c) (x-—1) 3 (x -3

{c) 25

(d) 32 (d) AWM {(x-)3MMAT (x-3
B-EFUA-O-PDW/52A 5 [P.T.O.
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13. The difference between compound 16. There is 60% increase in an amount

interest and simple interest at the
same rate of interest R percent per
annum on an amount of ¥ 15,000
for 2 years is ¥ 96. What is the

in 6 years at simple interest. What
will be the compound interest on
¥ 12,000 after 3 years at the same
rate of interest?

value of R?

(@) ¥ 2,160
@@ (b} ¥ 3,120
10 {c) € 3,972
@ 12 (d ¥ 6,240

{d} Cannot be determined due to

insufficient data : . ]
17, 16 litres of a ‘mixture contains

milk and water in the ratio 5: 3. If
14. What'is the maximum value of m if 4 litres of milk is added to this
the number mixture, the ratio of milk to water
in the new mixture would be
N=35%x45x55x60x124%x75

faj 2:1
is divisible by 5™M?
fb) 7:3
fa) 4 fc) 4:3
(b) 5 (d) 8:3
fe) 6
(d) 7 18. A person could save 10% of his

income. But 2 years later, when his
income increased by 20%, he could
save the same amount only as
before. By how much percentage
has his expenditure increased?

15. A milkman claims to sell milk at its
cost price only, but he is' making a
profit of 20% since he has mixed
some amount of water in the milk.
What is the percentage of milk in fa) 222%
the mixture? &

() 80% m) 2310
(b) 220 %
(c) 2429,
(c) 75% 9
(d) %% (d) 25%%
B-EFUA-O-PDW/52A 6
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THIE AN T WURW A &, T @
= @ R vfoya affe w, #96 =
L 2| R & 99 A g7

fa) 8
{bj 10
fc) 12

(d) 9ain g3 & Hrer Pyt T G
T HebeT

14. I @&

N=35x45x55x60x124 X 75

57 @ v 2, @ m =1 Afteran a9
F1 87

(@) 4
(b} S
¢ 6
(dy 7

15. UF gy foshal @8 &ran a2 fo 98 g

FHael AN FInG T o= W@ 8, g 4
20% 1Y B W 8, Tk 39 g9 H FO
et & uet fiemn 21 zw fham & gm
fopaa wferra 27

(@) 80%

250
b) %
(b) 3

(c) 75%

@ 22
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13. £15,000 i TH | 2 =f ¥ fow 16. freft ofyr § 6 o6t § @19mw == W 60%

i gfg @dt 21 € 12,000 & wfy =,
3 ut & fore Tt == W wRals =
w1 e

(@ ¥ 2,160
(b} & 3,120
c ¥ 3,972

d) ¥ 6,240

17. 16 wct & U% msmpH g 3R Ol 5 3

o I # §1 IR 5 o & 4 e gy
I figen e S, @t An Faw § gy &
Ot & 3TgaT = g

(a) o2l
(b) 7:3
fe) 4:3
(d) 8:3

18, U% =HAfth AU 3T & 10% ! I9d =+

R | fohrg 2 AW TR, S@ IWH A 20%
98 T, 09 ft 9% Tt foh & afw
Hqd G| 3@ =99 TR ufewe T
T 37

(@) 22%%

m) 2319
3

s 2459’-%

(d) 25% %

[P.T.O.
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. In how much time would the simple

interest on a principal amount be
0-125 times the principal amount
at 10% per annum?

1
a) 1— years
{a) i
3
h) 1— years
{b) 27
fc) 2—1 ears
Y Yy

(d} 22 years

20. A man rows downstream 32 km and

14 km upstream, and he takes
6 hours to cover each distance.
What is the speed of the current?

faj 0-5 km/hr
fb) 1 km/hr
fcj 1-5 km/hr

{dl 2 km/hr

21. A car travels the first one-third of

a certain distance with a speed
of 10 km/hr, the next one-third
distance with a speed of 20 km/hr
and the last one-third distance with
a speed of 60 km/hr. The average
speed of the car for the whale
journey is

{a) 18 km/hr
(b) 24 km/hr
{c) 30 km/hr

{d) 36 km/hr

B-EFUA-O-PDW/52A
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22, Two persons A and B start

simultanecusly from two places
¢ km apart, and walk in the same
direction. If A travels at the rate
of pkm/hr and B travels at the rate
of g km/hr, then A has travelled
before he overtakes B a distance of

{a) 9 km
p+q
) < km
p-4q
i 25 km
p-q
(d) 2% xm
p+q

23. For which wvalue of k does the

pair of equations x? —yf2 =0 and
(x—k)2 +y2 =1 yield a unique
positive solution of x?

(a) 2

(b} O

c) 2

(d) -2

24. A person goes to a market between

4 p.m. and 5 p.m. When he comes
back, he finds that the hour hand
and minute hand have interchanged
their positions. For how much time
(approximately) was he out of his
house?

fa) 55-25 minutes
(b} 55-30 minutes
{c) 55-34 minutes
(d} 55-38 minutes
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19, Tt gowm W 10% wloed i @ ¥ 22, ckmHl B wHI @ AW B

YRV A fhad @99 H WA A 3 =i v € e § v & v 3§ =em
0-125 71 8 e ’? & F &1 AR A, p km/uver i T
) W I & 91 B, g km /"0 A §
@) 17 S 3, @ B A om Freen @ TR A
foerht 28t o e 87
w) 12w
4 fa) % ym
. p+q
) 27
4 (b) P 1
3 p-q
(d) 22315
{c} %€ xm
p-q
20. T% oAts 32 km "A i fIm A @ @ P m
14 km 4 i fagdia fam § 9@ @@ @ p+q

i 3 yaF gt A T HA § 6 TN

T ) st < 23. k & fem sm F fou oo

(a) 0-5 km/59l 2L o R (x-k)2 ey =1
(b} 1 km/B0 W, x 1 Uk AfgdIT GH1eAF 5 am?
¢/ 1-5 km/jevel e} 2

(b) ©
(d) 2 km /9021

fc) 2

{d) -2

21. 6 ¥R fHdl ghHt_veeht wh-foem
10 km/9vel Y =19 @, A w-fE
3t 20 km/FvE & A@TE @ g IRED 24, TH ARG AWE 4 3N 5 T % 9 AW

- g 60 km/avel H = & ST B | ST =g ATy T 3, A o & f

z:f;?%l ot g § @ R siEd e :a%?? ;ﬁﬂa(ﬁmﬁ%ﬁ
Y T T Y I o7
fa) 18 kam /a0 (a) 55-25fme
(b) 24 km /90 (b) 55-30fi=
(c) 30 km/a0dl (c) 5534 fire
(d) 36 km /=0 (d) 55.38fFe
B-EFUA-O-PDW/52A 9 [P.T.O.
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25. The efficiency of P is twice that of Q,

whereas the efficiency of P and Q
together is three times that of R If
P, ¢ and R work together on a job,
in what ratio should they share
their earnings?

fa) 2:1:1
fh) 4:2:1
fef 4:3:2

(d} 4:2:3

. In a flight of 600 km, an aircraft was

stowed down due to bad weather.
Its average speed for the trip was
reduced by 200 km/hr and the time
of flight increased by 30 minutes.
The duration of the flight is

fa) 1 hour
(b} 2 hours
fc) 3 hours

(d} 4 hours

27. With a uniform speed, a car covers

a distance in 8 hours. Had the
speed been increased /by 4 km/hr,
the same distance could have been
covered in 7 hours and 30 minutes.
What is the distance covered?

(a) 420 km
(b) 480 km
(¢ 520 km

(d) 640 km

B-EFUA-O-PDW/52A
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28. A runs 1g times as fast as B. If A

gives B eé. start of 80 m, how far
must the winning post from the
starting point be so that A and B
might reach it at the same time?

fa) 200 m
() 300 m
fcj 270 m
{d) 160 m

29. A thief is noticed, by a policeman

from a distance of 200 m. The thief
starts running and the policeman
chases him, The thief and
the policeman min at the speed
of 10 km/hr and 11 km/hr respec-
tively. What is the distance between
them after 6 minutes?

faj 100 m
(bj 120 m
fc)) 150 m
fd) 160 m

When a ball bounces, it rises to %

of the hewght from which it fell. 1If
the ball is dropped from a height of
36 m, how high will it rise at the

third bounce?

(a) IO%m
(b) 10% m
(c) IQém
(d) 12% m

. https://t.me/defenceekaksha
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25. P, Q I UL I IFaT ¥ HH w1 §

Tl P 3R O faes R &t 3man =
T 2 @ FM Fa &1 Ak fedt w5 =
P, O 3R R fieram &1, @ I7ehl g 34
form a1guma & {07

28. A, B! 3TaaT 1%@1%.@{3‘!@%?&8

w1 AREE g A & oo fag @
80m M B, @ A F amiey forg @
ey ey @ gl TRt g afee, aife

A # B UF §HT T & 95 7
fa) 2:1:1 (@ 200 m
f(b) 4:2:1 (b) 300 m
(c) 4:3:2 {c) 270 m
(d) 4:2:3 (d) 160 m

26. 600 km ¥ U% Iz ¥ uH fRum @

e & o i & ST 21 A % fag
form &t e w1 200 km/9ve &4
3 e § 3R I2W W §HY 30 e W3
ST 3| 3T 1 e TaY ;a7

29. UF RO wh IR H 200m B T W

@Al 2| 9 MR 36 &t g o faard
31 dis1 Har 21 |l o fawdt e
10 km /9921 3R 11 km/=ver & fa &
e 21 6 fiFe & a1e 3% se i gl
fopert &i?

(a} 1 €0 fa) 100 -m
() 2w (b) 120 m

{c) 150 m
fe) 3 (d} 160 m
(d) 4 "o

27. T F1 & g A twreEH T @ 8 U

4 7a @t 21 ARk @ & 4 km /=0

30. Fr 1 A o 4, e 3= g fiwed

%mﬁ%mﬁwa‘cﬁ%lﬁw
T & 36 m N = 4 i s, @

ag fomn s, @ adt gft 7 oA s ot et 39T & a7 fRet S 3?
30 firre & q@ Y w1 wewdt off| @ AT !
gt feeeht 27 fa) 105 m
fa} 420 km (b) 1o§ m
(b) 480 km o 12 % -
(¢) 520 km ,
(d) 640 km (d) 123 m
B-EFUA-O-PDW/52A 11 [P.T.O.
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31. A light was seen regularly at

an interval of 13 seconds. [t was
seen for the first time at 1 hour
54 minutes 50 seconds {a.m.) and
the last time at 3 hours 17 minutes
49 seconds {a.m.). How many times
was the light seen?

(a) 375
(b) 378
(c) 383
(d) 384

32. An automobile financer claims to be

lending money at simple interest,
but he includes the interest every
six months for calculating the
principal. If he is charging an
interest at the rate of 10%., the
effective rate of interest becomes

(@) 10:25%
b} 10.5%
fc) 10-75%

(d) 11%

33. What are the possible solutions for x

of the equation xVx = Y x*, where

x and n are positive integers?

faj O, n
b} 1,n
(c) n, n?
(d) 1, n?

B-EFUA-O-PDW/52A
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. et A and B be finite non-empty

sets with the number of elements
in A =m and number of elements in
B=rn. Let m > n. If for some integer
k =1, the number of non-empty
subsets of A =2% + the number of
non-empty subsets of B, then which
one of the following is correct?

faj m=n+2
(b m=n+1

f¢} m=n+p for some odd prime
number p

{d m=n+t for some composite
number ¢

. If n is a natural number and

X X X
n=p11p22p33, where py, p,, P3
are distinct prime factors, then the
number of prime factors for n is
fa) x;+xq5+x5
(b) xixpx3
fc) {xy+1}{x, +1)(x5 + 1)
(d} None of the above

36. Consider the following statements

for the sequence of numbers given
below :

11, 111, 1111, 11111,

1. Each number can be expressed
in the form (4m + 3), where m is
a natural number.

2. Some numbers are squares.

Which of the above statements
is/are correct?

{fa} 1 only

(b) 2 only

{¢/ Both 1 and 2
{dj Neither 1 nor 2
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31. # wem Efa w9 ¥ 13 %2 & 34. Am ifu f& A st B ofifim, i

SR W 3] AT 3| ISl 9 I [ie
1 9 54 fie 50 @ o anfad
IR q@F 3 TR 17 e 49 THe W
TG T IW YR W F@ e aR 3@
Y

T § a9 A § aEl & 56 = m 3
B @ wwl & se=n % W wifm
m>n 8 o Rl gt k21 F fog,
A T IiE Iy A e =28 + B
¥ o wwgsE A gen  d@

@ 375 Frafofgs @ @ #9- =@ &7
fa} m=n+2
(b) 378 (b) m=n+l
fc} 383 ¢} m=n+p, [ fqum s wen
(d) 384 P fem

32. T& AR fSddNs % @ § B ag

FIYHO 919 9T 9 IUR ol &, | 98 &7
DT UG W GHA ol AT &k [ IEH
=1 BT o @l 21 4f€ 98 10% i

AR n

({d) m=n+t, 9= FEn % e

T oW s ® ek
n=plpy2py’, I py, Py, pa A
A PHEE ®, q n F AW

TGS #ht T w9 8
TR SN A W R, dl SR A THE
w1 @ ) 27 (@) ‘xy; + X9 +X3

(b) xjxgx3
faj 10-25% fc} (o +1)(xp +1)(x3 +1)
(b) 10-5% (d) 3udw & ¥ HIE

(c) 10-75%

36. @EaAl 11, 111,

1111, 11111, ... &

(@ 11% Fen & fo frafafea we @ fa=n
Hifs

‘ 1. U §EA1 (4m + 3} F 4 ° T

33. miE V% = Yx* ¥, @ilx 3 n A 51 Gt B, & m TF A QUi

YRS U, x ok (o0 gE §S

2l

wA-H 87 2. Y gL & 8|
(aj O, n 39 oAl # ¥ BE-T/4 w@ R/
@ 1,n (@) +aE 1
) (b) HIA 2
@ mon c) 13 23Ht
(d 1, n? (dj 3@ 13Mad 2
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37. The HCF and LCM of two 39. Consider the following statements :
peolynomials are (x+ y) and
1. There exists only one prime

(3x>+ S5xty+ 2Jc3y2 - 3x2%y3- Sxy* - 2y5 ) number psuch that (17p+1)is
a square.
respectively. If one of the
polynomials is (x2 ~ y2 }, then the 2. If x is the product of 10
other polynomial is ) consecutive prime numbers

starting from 2, then {x+1) is

also a prime number.
(a} 3x% - 8x3y+10x2y? P

+7’xy3 —2y4
Which_of the ‘above statements
b) 3x% - 8x3y— 10x2y2 isfare correct?
+7xy3 + 2y4
e/ 3x*+ 8x3y+ 10)4:21;(2 () 3 el
+7xy3 + 2y"r

{b) 2 only
fd) 3x* +8x3y-10x2y?

+7xy° +2y°
N {c) Both 1 and 2

38. Let p be a prime number other than
2 or 3. One would like to express
the vulgar fraction 1/ p in the form
of a recurring decimal. Then the
decimal will be

{d} Neither 1 nor 2

40, The sign of the quadratic pelynomial

(@) a “pure recurring ~decimal ax? +bx + ¢ is always positive if
and its” period < will be

necessarily {p - 1}

(a) ais positive and b? -4ac< 0
{6} a mixed recurring decimal

and its period will be
necessarily (p-1) (b) a is positive and b? —4ac= 0

{c/ a pure recurring decimal

and its period will be some fc) a can be any real number
factor of (p-1) and b2 —4ac<0
(d) a mixed recurring decimal
and its period will be some (dj a can be any real number
factor of (p-1) and b? —4acz2 0
B-EFUA-O-PDW/52A 14
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37. 9 SgUE & AEAW @HITAdS qUl SYaH 39, fraffga HuAl w fomm i

A FET: (x + y) 3R

(3x5+ 5x4y+2x3y2-3x2y3—5xy4 —2y5}

TR e agm (2 -y B, A
T ST H Y

(@ 3x%-8x3 y+10x y
+’i’xy3 —2y4

() 3x* -8x3y-10x%y°
+7xy3 -Jf-2y4

(c) 3x*+8x3y+10x?y?
+7xy3 +2y4

d) 3x% +8x3y-10x?y?
+7xy” 42yt

38, T ifE fF p, 2 @ 5 F I FR

N T 2| AR | 8= 1/p #
MTed Zymed % &Y § oI {6d1 WY,
9 TIH G B¢

(@) TF FE AEd wHad A IEH
A TEYEE 9 U (p- 1) g

(b) TH Ty ored TwETE SR IR
TEdF AEYTE T (p - 1) AW

) T [E oEd e R I3HH
I (p - 1) T B PGS BT

d) & Ty sad zwmem oft 3@
S (p - 1) 1 B OAETS FM

B-EFUA-O-PDW/52A
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1. a4 UH @ WISE Gl p H
AR W UER B (17p+ 1) TH
T B

2. TR x, 2 ¥ IE g4 el 10 FHATE
W el FwWOPAEA 8,
(x + 1) i TF AT HE 2

9 el o @ FA-E/E w3 /R

(a) I 1

(b) HIA 2

€)1 ¥R 2 I

(@ @ 1ARITA 2

40. fgam EERE ax? +bx+c ¥ g gea

YT g, At

(a)  q ™S & 3 b? ~4ac< 0

{b) @ VTR € 3R b2 ~4acz 0

fc) aaﬁézﬁamﬁméws‘rwaﬁ%
M b2 -4ac< 0

(d) a @ o aRalas gem 8 aedl ®
M b2 -4acz20
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41. If A, G and H are the arithmetic, 43, There are five parties A, B, C, Dand E
geometric and harmonic means in an election. Out of total 100000
between a and b respectively, then votes cast, 36000 were cast to
which ane of the following relations party A, 24000 to party B, 18000 to
is correct? party C, 7000 to party D and rest

to party E. What angle will be

) allocated for party E in the pie
fa) G is the geometric mean chart?

between A and H

fa) 15°

fb} A is the arithmetic mean (b} 54
between G and H {c} ©60°

{dh 72°

(c/ H _is the harmonic mean
between A and G 44, Out of 532 savings accounts held

in a post office, 218 accounts
have deposits over § 10,000 each.
fd) None of the above Further, in 302 accounts, the first
or sole depositors are men, of
which the deposits exceed ¥ 10,000
in 102 accounts. In how many

42, The geometric mean of three accounts the first or sole depositors

positive numbers @, b, ¢ is 3 and are woment and the deposits are
the geometric mean of another up to ¥ 10,000 only?
three positive numbers d, e, f is 4. faj 116
Also, at least three elements in the
o (b} 114
set {a, b, ¢, d, e, [} are distinct.
Which  one of the following {c 100
inequalities gives the best

. d) Cannot be determined from the
information.about M, the arithmetic (@) & €

mean of the six numbers? given data
45. 1If
(@ M>2J3 xX+y+z=0
then x4 Yyl +z3+ 3xyz is
(b) M>3-5 equal to
(a) O
fc/ M=3-5
(b) 6xyz
¢ 12xyz
fd}) It is not possible to set any (el Y
precise lower limit for M (d} xyz

B-EFUA~-QO-PDW/52A 16
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41, afz g 3 b % 9 A, G BN H FAW:

AR AL, TP W 3R §UcHe "I
%, @ Fefafed gerl & & FR-w &
wa 27

@ A H% g G meA B

(b} G 3N HF 9 A = W 8

) A3 GF &\ Hguems meg g

(d} I A | HI3 T

42, ®F waews @A a, b, ¢ @ U

ey 3 ¥ 3 e dF uoRs SR
d, e, f W T W 4 | GH=A
a, b, c, d, e, f} B FA-W-FW A
firg geand 8| F=fafes swfiee | 8
HA-d T FEi T B8 TR &
T e, M & fawm d gae gEan
ft 27

(@ M >2J3
f(b) M >3-5
c) M=23-5

d MF ®E fF-d= P dmn Fraa
FET GFE IE R

B-EFUA-O-PDW/52A

17

45, 7R

| LET’S LEARN TOGETHER |

43. wF = # A, B, ¢, b 3R E 4N &

£1 2@ T FA 100000 WA H H T A
# 36000, TA B H 24000, T C Hi
18000, & D T 7000 3 IY ¥ A
E =1 fict goiw 3 79 E % g sl-w
o Fruifa gme

(@) 15°
(b) 54°
(c) 60°
(d) 72

44. T SR A W@ U 532 w9 Tl a@ned

# 3 218 w@ed § &% § €10,000 @
sftrer s fobw T €1 3mt ey man R R
302 @ # WUH 9 UHHE SHERA]
gy ¥, fE /102 d@red & s
rrfﬁmf £10,000 & afuw ¥ fFad
ST A guH q1 AR Sl Afeer @
a1 <71 OINET $ae € 10,000 d% &7

{a] 116
(b) 114
fcj 100

(d) R e zw g Puffe 5@ & .
Hahdl

x+y+z=0 2, Gl
x3 +y® + 2% + 3xyz Trms TR 37

fa) O

{b) 6 xyz
) 12xyz
(d) xyz

[P.T.O.
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46. If three metallic spheres of radii 6 cm,
8 cm and 10 cm are melted to form
a single sphere, then the diameter
of the new sphere will be

fa) 12 cm
(b} 24 cm
fc) 30 cm
fd)] 36 cm

47. If each interior angle of a regular
polygon is 135°, then the number of
diagonals of the polygon is equal to

fa} 54
(b) 48
fc} 20
fd} 18

48. The sides of a triangular field are
41 m, 40 m and 9 m. The number of
rose beds that can be prepared in
the field if each rose bed, on an

average, needs 900 square cm
space, is

fa) 2000
{bj 1800
fe) 900
(d} 800
49. The ratio of the outer and inner
perimeters of a circular path is

23 : 22. If the path is 5 m wide, the
diameter of the inner circle is

faj 55 m

fb) 110 m
fc) 220 m
fd] 230 m

B-EFUA-O-PDW/52A

50. A cylindrical vessel of radius 4 cm
contains water. A solid sphere of
radius 3 cm is lowered into the
water until it is  completely
immersed. The water level in the
vessel will rise by

fa) 1-5cm
{b) 2 cm
fe) 2-25 cm
{d) 4.5 cm
S1. If the height of a right circular cone
i1s increased by 200% and the

radius of the base'is reduced by
50%, then the volume of the cone

fa] remains unaltered
(b) decreases by 25%
{c} - increases by 25%

{d} increases by 50%

52, The angles of a triangle are in the

ratio 4 : 1 : 1. Then the ratio of the
largest side to the perimeter is
2 1
al = b ——
(e 3 v 2+4/3
J3 2
(¢) ——= (d) ——
2+/3 1++/3

53. Let @, b, c be the sides of a right
triangle, where ¢ is the hypotenuse.
The radius of the circle which
touches the sides of the triangle is

faj (a+b-c)/2
(b) {a+b+c)/2
fe) (a+2b+2c) /2

(d) (2a+2b-¢)/2

18
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46, qﬁGcm, BCmGﬂIIOcmﬁmaﬁa'lﬁ
1 uifas M & fiaae & men
SR SC, U el AR 57 FOmY

50. 4 cm B0 9 U Yo ddq d o
2| 3 cm = AT U I M 9 8
AW ST 2 o ae foR a8 O @i § 3@
3 STE| §a4 ® gt & &R e =g

fa) 12 cm ,

(b) 24 cm '

(¢/ 30 cm (@) 1-5cm
h) 2

{d) 36 cm ) o
{ef 2-25cm
fd} 4-5cm

47. 7R fRlt w0 9@ @ TEE JE

135° %, @ 3 agye F fomol 1 wen 51, df Th TP W, $9E 200% FE

w1 37
3 ST qen 3@ AER ) B 50% wu
(@) 54 F QA ST, G IW TH T SAAH
{b) 48 {a) Ffafda war g
fc) 20 (b) 25% FH 2 I B
(d) 18

(c) 25% g ST &
(d) 50% &g & 2

52. Th Brgd o AW 4:1:1 % AgIa H E
e A ge@ I g & gfem R

48. s Beia @ & g9 41 m, 40m
3 om ¥ 3| Ta # Tae A e
Ffat 4R i T A §, I T
o™ 6t TR &1 3EaT 900 & cm

SPTE oh! HTaSgehdT B¢ 3 2&2[1 e 1

fa) 2000 fa) E {bj 2 5

(b) 1800 3 5
d

c) 900 & 2++/3 fd) 1+43

{d) 800

53. W e Fr o wmww e o

49. TF AU 94 F SEA w1 SARE Ao a, b, ¢ & W& c F 2 I\ FA *

w1 g 23:22 B AR 9w 5 m =
2, ) oTaieh g9 &1 ™ 1 37

foromr, st Bge R geed @ ol W
3, FR?

@) 55m @) (a+b-c)/2
b 110 m (b) {a+b+c)/2
(© 220 m {c) (a+2b+2¢c)/2
(d) 230 m (d) (2a+2b-c)/2

B-EFUA-O-PDW/52A
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54. The area of the largest triangle that
can be inscribed in a semicircle of
radius r is

faj r?
(b) 2r2
fc) 3r2
(d} ar?
55. AD is the diameter of a circle and
AB is a chord. f AD= 34 @m,

AB=30 cm, the distance of AB
from the. centre of the circle is

{fa} 17 cm
(b) 15 cm
fc; 13 cm
{d) 8 em

56. If a star figure is formed by
elongating the sides of a regular
pentagon, then the measure of each
angle at the angular points of the
star figure is

fa) 3€°
(b} 35°
fc) 32°
(d) 30°
57. Four equal-sized maximum circular
plates are cut off from a square

paper sheet of area 784 square cm.
The circumference of each plate is

fa) 11 cm
{b) 22 cm
fc} 33 cm
{d} 44 cm

B-EFUA-O-PDW/52A

58. Iftan{A+ B) =+/3 and tan A = 1, then
tan{A - B) is equal to

fa) O

(b) 1

1
(c) E

(d) 2

59, If the radius of a sphere is increased
by 10%, then the volume will be
increased by

fa) 33-1%
(b) ' 30%
fc] 50%
{d} 10%
60. ABCD is a parallelogram, where
AB : AD=2:1 One of the angles of

the paralielogram is 60°. The two
diagonals are in the ratio

fa) 7:3
(b} J7:43
¢) 7:5

{d} None of the above
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54, r frw A @ ondge & =wig @i S

T TS JEH Y &1 S @ 87
fa) r?

(b) 2r?

{c) 3r?

(d) 4r?

55, fdl 99 %1 W AD ? 3R 306 @ Sfan

AB %! 9§ AD = 34 ¢cm, AB=30cm,
@ 99 F = ¥ AB H gt Frad 22

fa) 17 cm

{p) 15 cm

(c) 13 cm

{d} 8 cm

56. IR TF TH TS A YR B aEEK

T a1 AR & SR 8, T ark H
aFf & wivfg gl W A% ®m A
TS 1 7
(a) 36°
(b) 35°
fc) 32
(d) 30°

57. 784 T cm TR G T FNER ST

F U3 & § gaM oTeN W 9R 5 ¥ a9
T i wr WP S E e
wie 1 qfefy @ 37

faj 11 cm

fb} 22 cm

fcj 33 cm

(d) 44 cm

B-EFUA-O-PDW/52A

58. IR tan{A+ B) =3 3 tanA=1%, @

tan(A - B) fra® st 7
fa) O
(b) 1

(c) %

(@j 2

50, If2 & M H B 10% 51 & Y, @

JGT A ThaAl §g T
(@) 1 33-1%

) 30%

(c) 50%

(d) 10%

60. ABCD \U& wdw wgdw 2, @

AB:AD=2:1%| S8R Iy & &
FN 600 &l WA TGET F AT farewol
fog argama & &7

fa) 7:3
(b) J7:J3
fc) 7:5

(d) S9gw B ¥ FE T

[P.T.O.
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61. Consider the following statements : 63. If

1. Let D be a point on the side 3-tan? A
BC of a triangle ABC. If area of — =K

2
triangle ABD = area of triangle 1-3tan” A
ACD, then for all points O on
AD, area of triangle ABO = area where K is a real number, then
of triangle ACO. cosec A(3sinA-4sin® A)is equal to
2. If Gis the point of concurrence
of the medians of a triangle (a) 2K
ABC, then area of triangle K-1
ABG=area of triangle BCG
= area of triangle ACG. () 2K where 1 <K<3
K-1 3
Which< of the above statements
i 2
is/are correct: (c) 2K Ui T 1 or K >3
K-1 3
fa) 1 only
2K
{b) 2 only (@ K+1
{¢/ Both 1 and 2
{d} Neither 1 nor 2 64. The angles of elevation of the top of a

tower from two points P and @ at
2 and n? respectively,

62. If cosA=tanB, cosB=tanC and from the base and in the same

cosC = tan A, then sin A is equal to straight  line  with it are
complementary. The height of the

distances m

45 =1 tower is
{a)
4
(@) (mn)!/?
p 451
(b) mn/?
() ’/54‘1
{c) m!/2n
) J§2—1
(d) mn
B-EFUA-O-PDW/52A 22
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61. FrfaRaa i ® faar Hif ;

1. wH #ffee 76 & @ ABC #

Y& BC W D W& forg 31 Al Bgw
ABD ¥ #7%d = f3yd ACD @

aFke, @ AD W wft fagat 0 %
for, By ABO 1 &% = By
ACO F1 gT%dl |

2. AR & s ABC & mfdematt &
T g G 2, @ B ABG
F &% = B[S BCG 1 &wd
= e ACG #1 Save |

3uth wyAl B @ FH-81/R TR B/E?

(@) FIA1

(b) FaA 2

(c) 1 3R 2aH

[d) IR 1ARTHR 2

62. I% cosA=tanB, cosB=tanC 3R

cosC = tan A, 9 sin A [FHe SR 87

(a)

(b) ——

{c)

{d}

B-EFUA-O-PDW/52A
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63. :ﬂ%?’ta—“’q_f{ Tt K & et

1-3tan? A
TE 2, @ cosec A(3sinA-4sin® A)
forgeh w37

(@) ——

4 K+1 g

64. P 3L Q @ forg ws dFm & smum |

FA: m? R n? AP W& g
T o f&ra €1 FHAR & il %, P @
", G H0 OF § HAR R I
7 27

(a) (m}I/Q
B mnll?
) m'2n
(d) mn

[P.T.O.
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65. The angle of elevation of a cloud from 68. Consider the following :
a point 200 m above a lake is 30F )
and the angle of depression of its . _cosa sinA
reflection in the lake is 60°. The 1-tanA 1-cotA _
height of the cloud is =sinA+cosA
) 200 m 2. (l-sinA-cosA)?
(b) 300 m =2(1-sinA)(1+cosA)
(c) 400 m Which of the above is/are
identity/identities?
fd} 600 m
faj 1 only
66. If (b} 2 only

tanA+cotA=4 {cj Both 1 and 2

then tan® A+cot? A is equal to {d) Neither 1 nor 2
faj 110
69. ABC is a triangle right angled at
(bj 191 B ‘and AB:BC=3:4. What is
(c) 80 sin A +sin B + sin C equal to?
(d) 194 fa) | 2
11
67. If (i g
_ 1-sinx 1-sinx COS X fc) 12
P=\7—7—= @@= » P = : 5
1+sinx Ccos X 1+sinx
then which of the following is/are (d 3
correct?
l. p=q=r 70. The value of
2. p2 =qr

cosec? 67° + sec? 57° —cot? 33°- tan? 23°
Select the correct answer using the

code given below. 15

fa} 1 only fa) 22

(b} 2 only (b) 2

c) Both 1 and 2 c) ~2

(d) Neither 1 nor 2 {d) 0
B-EFUA-G-PDW/52A 24
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65. W& a0 & 200 m IW o @& farg 4
ferdlt areet &1 3999 HI7 30° ® N IEw
#ia o wfafeem &1 smT S 600 B
IEA H TAE 797 27

fa) 200 m
{b} 300 m
fc) 400 m

(d) 600 m

66. Tfe tanA+cotA=4, L
tan® A + cot? A FEesh SR 27

fa) 110
(b} 191
fc) 80

(d) 194

67. afE
_ cosx

_ J1-sinx |
P={1+sing 1+sinx

@t FeafeaRea & | F9-91/8 w8 8/87

_1-sinx

3
COs X

R g gz wOWM WA N
EGE

(a) Had 1

(b) HaA 2

c) 132
(@ Ad13mad2

B-EFUA-O-PDW/52A

25

68. Fmafafad = fa=m Sifsu

cos A
1-tan A

sin A
l-cotA
=sinA+cosA

2. (1—sinA—cosA)2
=2(1-s8inA)(1+cosA)

I | W RH-91/R THIE §/27
(@) Fad 1

(b) FaA 2

) 132

(d) AT/ 1ARTA 2

69. ABC T fiqs %, St B W wHHm
ST & W AB:BC=3:4 Tl
sin A + sin B + sin C fres avat 27

{a) 2

(b)-g

(e —

(d) 3

70. cosee? 67° + sec? 57° —cot? 33°

~tan? 23°
% A H 87
(@) 242
) 2
(c) 2
(d) 0
[P.T.O.
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71. Consider the following statements :

1. There exists at least one
value of x between 0 and kil

which satisfies the equation

sin® x - 2sin? x-1=0.

2. sinl. 5 is greater than cosl- 5

Which of the above statements
is/are correct?

{a) 1 only

(b} 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

72. From the top of a tower, the angles of

depression of two objects P and QO
{sittated on the ground on the
same side of the tower) separated
at a distance of 100(3-+/3) m are
45° and 60° respectively. The height
of the tower is

fa} 200 m
() 250 m
fc) 300 m

{d} None of the above

73. If
sinx+cosx=c¢
then sin® x + cos® x is equal to
1+ 6¢% - 3¢?
(@) ———
16
1+ 6c? - 3¢*
p) 2 Tt
(b} )
1+ 6c2 +3c*
fcf ——————
16
1+ 6¢? + 3¢*
(g ——
4
B-EFUA-O-PDW/52A 26
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74. Consider the following statements :

1. There exists no value of x such
that

1 _4407B,

- O<x<?™
1-sinx 2

2. sinx=3%"% does not hold
good for any real x.

Which of the abeve statements
is/are correct?

fa) 1 only
(b} 2 only
{c/ Both 1 and 2

{c) Neither 1 nor 2

75. A triangle ABC is inscribed in a

circle. If sum of the squares of
sides of the triangle is equal to
twice the square of the diameter,

then sin? A+sin? B+sin?C is
equal to

fa) 2

{b) 3

(c) 4

{d} None of the above
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71. Ffafem ot w ffmm fifvw

1. oaﬁxg%aﬂaxwm-ﬁr—m@

A ofee # 0§, St wEiERw
sin4x—25in2x—1=03ﬁlw
A B

2. sinl-S,cosl-S@asT%l

IRRE FA F § FA-01/8 T /87

(a) Fad 1

(b) F 2

{c) 13 23M

(d) T/ YT A2

72, Tl i it w & @ o | ¥y @

Tgsil P 3R Q &, fFS = fi @
100{3-+3)m 8, R & i ¥
T FI Y 45° 3R 60° T HAR
1 T T &7

fa) 200 m
b) 250 m
fc; 300 m
(d) 39w H QA IS TE
73. 4R sinx +cosx = ¢ @t sin® x +€0s® x
Torerer TUR 27
1+ 6¢% - 3c*
(a) ST a—
1+ 6c? - 3c?
h -
(b) 3
1+6¢2 +3c*
fc) ———
16
1+ 6¢? + 3c*
@ —

B-EFUA-O-PDW/52A
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74. Tmataie sut ® fFEr fifsu

1. x % Tl 0@ v w1 orflaes a2
fn

=4+2J3, O<x<=
l-sinx 2

2. sinx = 3% % fre off avefiE x
% g o i g

I FUA § F BE-T/T v B/R
(@) &FA 1

(b) e 2

€ 132 <=

(@ a1 AR 2

75. B ABC Tt gm0 & swviq ©f=n

(3spTees) B 1 Ffe st 1 et & amt
# AW g™ % I W oqoE 3, @
sin? A+sin? B+sin? ¢ s s
27

fa) 2

b) 3

(c} 4

(d) ITEE A Y HE TE

[P.T.O.
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76. The area of a rhombus with side 79. The radius of a sphere is equal to the
13 cm and one diagonal 10 cm radius of the base of a right circular
will be cone, and the volume of the sphere

is double the volume of the cone.
(a) 140 square cm The ratio of the height of the cone to

() 130 the radius of its base is
square cm

fe} 120 square cm fa) 2:1
(d) 110 square cm (b) 1:2
fe) 2.3

77. Two circles, each of radius r, with
centres P and Q; are such that each {d) 3:2
circle passes through the centre of
the other circle. Then the area

common to the circles is less than 80. Water flows through a cylindrical
one-third of the sum of the areas of pipe of internal diameter 7 cm at
the two circles by the rate of 5 m/s. The time, in
5 minutes, the pipe would take to
(a) J3r fill 'an empty rectangular tank
4 4mx3mx2-31lm is
J3r2 {a) 28
(b) 3
(b) 24
V3 r? fc) 20
fc)
2
{d) 12
(d) 3r?

81. The total outer surface area of a right

circular cone of height 24 cm with a
78. A sphere and a cube have same hemisphere of radius 7 cm upon its
surface area. The ratio of square of base is

their volumes is

{a} 327r square cm

faj 6:m.

(b} S:m {b) 307n square cm

fcj 3:5 {c} 293mr square cm

{d 1:1 fd} 273m square cm
B-EFTTA-N-PW /52A 28
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76. T wragys =1, @l Y& 13 cm 3R

& fa@u 10 cm B, fa%a feran gm?
(@) 140 @fcm
(b) 130 T cm
c) 120 ¥t cm

(d) 110 & ¢cm

77. @ 3§ &, fomeht 52w $i B o R, e

P33t QR THH A GER IW H dR &
B e (21 2 gul w1 IEME
g%, aFl gul % dEkel % 4 F
w-foers @ foran o\ &7

J3r?

fa) —,

J3r?

b —

J3r?

(c} 2

(d) 3r?

TF Ml 3 TR T F gEE SEed auet
#1 3T TGl % T A1 A9 T 87

faj 6:m
b) S:m
fc) 3:5

di 1:1

B-EFUA-O-PDW/52A
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79. W Mo & e et amgda Tw ®

3R # fiow % s 3 R e @
WA, M % 3T & &HT & | I H
Fo1 1 3IgH UR #H G=n 8 wpn
1 g7

faj 2:1
(b) 1:2
fcj 2:3

(d) 3:2

80. 7 cm i ATF G Al UF AR

q’(’ﬁﬁ‘l‘l’fﬁSm/sﬁWﬁTﬁaﬁﬁT%l
4mx3mx2-31m 9] TH AR
wreft <ot B WA | ¥ et A fEa e
Guul

{ajc 28
(b) (24
(c) 20

(d) 12

81. T TreEgdE W &1, fEd I8 24 em

2 3t Rk smm | 7 om B w1 @&
e ®, $o O UEG aFwe fhd
27

(aj 327% & cm
(b} 307n =t cm
c) 293n ¥ cm

(df 273n T cm

[P.T.O.
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82. The last digit in the expansion of 85. A rectangular paper of 44 cm long
17256 g and 6 cm wide is rolled to form a
cylinder of height equal to width of
{a) 9 the paper. The radius of the base of
the cylinder so rotled is
(b) 7
fa) 3-5cm
(c) 3
fb) 5 cm
(d 1
fcj 7 cm
83. A rectangular block of wood having (dj 14 em

dimensions 3mx2mx1-75m has
to be painted on all its faces. The
layer of paint must be 0- 1 mm thick.

_ 2 2 _
Paint comes in cubical boxes 86. If a-b=4 and a“ +b* =40, where

having their edges equal to 10 cm. aaand 6b are positive integers, then
The minimum number of boxes of a” +b"” is equal to
paint to be purchased is
(a) 264
fa} 5
(b) 280
(b) 4
(¢} 300
fc) 3
@ 2 (d} 324

87. The sides of a triangle are 25 cm,
39 crm. and 56 cm. The perpen-
dicular from the opposite vertex
on the side of 56 cm is

84. The diagonals of three/faces of a
cuboid are 13, V281 and 20 linear
units. Then the total surface area of
the cuboid is

{a) 650 square units fa) 10 cm
{b) 658 square units (b) 12 cm
{c} 664 square units fcf 15 cm
(d) 672 square units (d) 16 cm
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82. 172°0 ¥ yam # wtfiw o= F 27
(@ 9
() 7
c) 3

(@ 1

83. 3mx2mx1-75m fme a  wH
AIATHEN AHLL & BUE & QI 81 &l 4e
AT 2| U= & 0% 0- 1 mm A B 8
=fgul &= 10 cm fFAM o =A=R
fesal @ aman 21 U= & FH-Q-HH fFaq
feea @R 9 =nfEu?

(al S
(b} 4
fcj 3

{d} 2

84. TF WM F dF UBI & fowol 13, 4281
3 20 T ST F &1 HAM @ FA
g STk e 27
{aj 650 @ gy
(b} 658 =i gerg
c) 664 T FHE

(d) 672 =t 30

B-EFUA-O-PDW/B2A

85. T& HTAHRK FIS &Y, e @R

44 cm ¥R HEE 6 cm B, MW ()
TR FHIH I SI8E & SO Hag el
AT ST ST 1 59 YT S0 T o
& amyr F e T 87

fa) 3-5cm
(b)) 5 cm
fe} 7 cm

fdl 14 cm

86. It a—b=4 3N a2 +b2 =40 B, wref

aﬁ(bﬂ?ﬂ%ﬂh%,ﬁa3+b6
fondeh s B7

{a) /264
(b} 280
{c) 300

(d] 324

87. & G fi ¥ 25 cm, 39 cm 3N

56 crn &l 56 cm 1 SN W @@ ¥
§ el foran 37

fa) 10 cm
(B} 12 cm
fc; 15 cm

{d) 16 cm

[P.T.O.
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88. The diagonals of a trapezium are 91. If the angle between the radii of

at right angles, and the slant sides,
if produced, form an equilateral
triangle with the greater of the two

a circle is 130°, then the angle
between the tangents at the ends of
the radii is

parallel sides. If the area of the

trapezium is 16 square cm, then fa) o0 (b} 70°

the distance between the parallel

ides i

eS8 c) 50 (d) 40

fa} 2 cm

{b) 4 cm

fc) 8 cm 92, Let OA, OB, OC and OD are rays

in__the anticlockwise direction

) : such that ZLAOQOB=./C0OD =100,

ingggitient data £BOC=8% and LAOD= 78"
Consider the following statements :

{d} Cannot be determined due to

89, From a circular piece of cardboard of
radius 3 cm, two sectors of 40° each 1. AOC and BOD are lines.
have been cut off. The area of the

A ) . . 2. ZBOC and ZAOD are
remaining portion is

supplementary.
fa) 11 square c¢m
Which of the above statements

(b] 22 square cm |
is/are correct?

{¢) 33 square cm
{d) 44 square cm fa)- 1 only
) (b} 2 only
90. Three equal circles each of diameter
d are drawn on a plane in such a
way that each circle touches the
other twowcircles. A big circle is
drawn in such a manner that it
touches each of the small gircles

{c} Both 1 and 2

fd} Neither 1 nor 2

internally. The area of the blg circle 93. At 8:30. the hour hand and the
is minute hand of a clock form an
(@) nd? angle of
(b] md?(2-43)? (a) 80°
ad? (V3 +1)? (b} 75°
f¢) ———
2
{c) 70r
() nd? (V3 +2)2
12 {d} 60F
B-EFUA-O-PDW/52A 32
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88. UF THend o Toekol gEwOn W # 3R Al 91. AR wF v i Bt & 9 1300 #

e Y foele et 1 semn s, at
T g et § ° 9 anelt e &

A G AR By e S R A
o @ 89%d 16 1 cm 2,

AR e % i A g fe 27
fa} 2 cm
b} 4 cm
fc; 8 cm

(d) A =a & Frw Fulfa & & =
ek

89. 3 cm B 9 & ™ & FeA gHS @

400 @ 3 Beu-me R 9@ g 9N

=iv B, 1 B=ed F ) w sl -t
% ol w1 S = }7

(@) 9C° (b) 70°

(¢} 50° (d) 40

92, WH WIS OA, OB, OC. 3 OD amred

R dogm wwr. e 2R
ZAOB=£COD = 100, '/ BOC = 82
3T LAOD = 78° 2| Fr=feifga +oi W
o Fifs

R #1 ST%e #7127 1. AOC 3R BOD 1@ &
(@ 11 @t cm 2. /BOC 3R £LAOD ¥ 81
(b) 22 Ficm S el R A/ T 2/
{c) 33 g cm {a)'ml
{d) 44 3 cm
(b) Fad 2
90. U% HHAA W T S Iq, Ih d AH TSRS

916, 36 TER @ i 9 2 6 5 a9
g 3 gEl H W W B T €1 g
30 TR @ dien s @ a8 v s
99 B Al €1 F T gl 2 98
g I &TEA 1 37

(@ Far1ad2

03, TF UL # ;30 ==, gv Hi gE 3N fime

(a) nd? + g8 T iy TR 7
(b} nd?(2-3)? (a) . 80°
) nd? (V3 +1)? (b) T5°
2
fc} 70°
@ nd? (V3 +2)?
12 (d) 60°
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94. The complement angle of 8(° is

(@)

{b)

{c)

(d)

radian

18
s
ﬂ radian
9

n .
—- radian

18

i radian
an

95. Consider the following statements ;

1

If non-parallel sides of a

trapezium are equal, then it is
cyclic,

If the chord of a circle is equal
to its radius, then the angle
subtended by this chord at a
point in major segment is 30°.

Which of the above statements
is/are correct?

(a)
(b}
(¢}
(@)

96. Out

1 only
2 only
Both 1 and 2

Neither 1 nor 2

of two concentric’ circles, the

diameter of the outer gircle is 26 cm
and the chord MN of length 24 cm
is tangent to the inner circle. The
radius of the inner circle is

(a)
(b)
(e
(d)

5 cm
6 cm
8 cm

10 cm

B-EFUA-O-PDW/52A
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For the next four (4) items that follow :

Consider the following frequency

distribution :
Class Frequency
0-10 4
10-20 3
20-30 7
3040 10
40-50 12
50-60 8
60-70

97. What is the mean of the distribution?
fa} 37.2
fb} 38-1
{c}) 39.2
{d) 40-1

98. What is the median class?
{a) 20-30
(b} 3040
fc) 40-50
(d) 50-60
99. What is the median of the
distribution?
fa} 37
(b} 38
fc} 39
(d} 40

100. What is the mode of the distribution?
fa) 38-33
(b} 4066
fc] 42.66
fd) 43-33

34
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94. 80° F1 TH F0 FT §? T I T = (4) TvAiv & e
@) %?iﬁﬂm Fratofgn Tvemar sved w o= fifse .
E AT RAT
(b} %ﬁ%ﬂ:{ 0-10
10-20
30-40 10
@ 2w | 40-50 12
50-60 8
60-70

95. Ffafige s:Ai ¢ fo=m fifsw .

L o R - T 97. SUIH & A1 1 27

TR &, @ 9% gens A R (@) 372
2. af T 9w 1 Shar sedh) few & (Ziscl
T B, o1 4H @us & Tl fimg W fcj 392
39 a1 gR A= S0 30° B [d) 40-1
39 FUAl 4 § FH-F1/H F 2 /37 98, i 1 @y &7
(@) FAA 1 (@) 20-30
b) 3040
(b} AT 2 i
¢/ 40-50
() 13 2aMA (d) 50-60
(@ T 1 AT 99, suzq ot nifedra &1 87
fa) 37
96. T Wkl A T W, @ g7 W AW (b) 38
26 cm ? 3 24 cm ol SfEr MK, (c) 39
e ga W Rl 31 e g h @ 40
e = 27
(@) 5 cm 100. U3 F TgeIH H1 87
b) 6 cm @) 38 33
(b} 40-66
(cj 8 cm c) 42-66
{d} 10 cm (d) 43-33
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wH H@E&dl

102043 Tteror gieaent

grieTer it

aag ;8 uo quUIts : 100

. 30 Tl gfta | @y O Ru U wEe 0 euel Hu

AFIA

. TiiEn WY B & g 4rE, 9 36 uitem gitaer 6 ysae o= wi & 6 39 =g T o, we

T g gon UB s ww anfe A @1 A v, A 34 ad whew g @ we W

. FUA A W fF OMR sW-uas #, 3faa @R o, e T 3R wliswm gicae aigwe A, B, C @

D @i, @= ¥ vd fa frel g% o fomats & v i gzag & i Foted soficaw 6 34 Bl
ot yar &t g /famni & i § s-uwes fem s e o)

FFAH (a8l ghae giee @ e § 7 6|

. 78 Tdam gfees 8 100 W () 3w e 31 vee we feeft 3R sret <l H sw 21 uRd g o

A wegat (we) fow g B | sl A o goget A |, N e Im-wEs | sRea & 9 €1 aft s
o o 6 T @ AfiE geER ad 2, qt 39 Ung i AtRd F{ S M9 dEEE o0 | Yol T & foe
Fae UF @ TgW g 2

. e e wnfl wegat e A fou o Sw-wss W@ sl F6 2) sT-TE A o few )
. wft Tl & iE A 2
. 3 geat T o e gfen & fafe gl o SO SU-UAE W Hfhd AT YE A, STTH WEW

T-TE % A e % sEan 39 faam IR 0 o3 3

. ¥Y I Bl UG R IW-UEAS B % 916 aWl TS & TEIG T shaol SW-USe JTHiaE & | 2

FgR! A "™ wWEw gEaw @ S TR @1

. Fw W % o e sl gies & o R’ Een R
10.

e 3w & fom Tue

IEAE wya-uAt # Infean g @y o wem T & i gue o smom

(i) s W % foru =R dfcs s 31 Iuiiean 30 s e & fou fou e v ew W & faw v eg
e fohw a sit w1 we-fagrd gve & wu @ @ @)

(i) afe 3 Iofiear o o Aifis 3 2@ 8, @ T T I AE S, w9 R s d | v W A
Aar B, et oft 3 ye & forw audegan @ 3 ae @1 eve R smom)

(iii) 3R 3Idfeam g0 % uw v T8 R 9 2, a1wiq sefieEn g 3w E e s 2, @ 3| wE & fav
wig oz 7 fear som

W G SNTH! g8 T Yiew @iee & 7 %8 AN 79 q% 7 @it

Note : English version of the instructions is printed on the front cover of this Booklet.
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